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The n™ term of a sequence is given by U, =n!(n—2), for all positive integers N where n> 2.

Show that

u,—Uu,, =(n-1)!(an’ +bn+c)
for some real constants a, b and ¢ to be determined. [2]
Hence find

N-+1

Z[(n—m!(zn2 ~6n+6) | 3]

n=3

uul uuu
Referred to the origin O, the points A and B are such that OA=a and OB =b. The point C is
on AB produced such that AB : BC =1 : k, where K is a real constant.

3
Given that OA=20C, ZAOB = %, and ZAOC = Tﬂ-, find the exact value of k, showing your

working clearly. [5]

By means of the substitution u=siné, find

J20059—3sin2¢9 40, (5]

1+sin’ @

The curve C has equation 9%> — y* +3Xy—5=0.

. . dy . . . .
(i) Find d_i in terms of X and y. Hence, explain why C has no turning points. [4]

(i)  Find the equations of the tangent and the normal to C at the point P(1, —1). [2]

(iii) The tangent and normal to C at the point P(1, —1) meets the y-axis at the points Q and R
respectively. State the area of triangle PQR. [1]
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Given that ais a positive constant. A curve C, has parametric equations

x:?, y=1+t.

Sketch C,, labelling the coordinates of the point(s) where the curve crosses the X- and y-axes,

and the equations of the asymptote(s) in terms of &, if any. [2]

2
. / X
Another curve C, has equation y=,/1+ =

(i)

(ii)

(@)

(b)

Show algebraically that the y-coordinates of the point(s) of intersection of C, and C,
satisfies the equation (y— 1)2 (y2 —1) -1=0. [2]

Sketch C, on the same diagram as C,, labelling the coordinates of the point(s) where the
curve crosses the X- and y-axes, and the equations of the asymptotes in terms of a, if any.

Find the coordinates of point(s) of intersections of C, and C, and label the coordinates
in this diagram, leaving the answers correct to 3 significant figures, in terms of a. [4]
The function f is defined by

f:xa 2X°—Ax—3, wherexe | , %< X<5,
where A is a real constant. Find the set of possible values of A such that £~ exists. [2]

The function g is defined by

x—1), for0<x<I,
g0 =71
2log, X, for1<x<2.

(i)  Sketch the graph of y=g(X), labelling clearly the coordinates of the end-points

and the points where the curve crosses the x-axis, if any. [2]
(i)  Hence solve the inequality 1< g(x) <2 exactly. [2]
(iii) Given that g’ exists, define g” in a similar form as g. [3]
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In(x+1
n(x+1) , where X > —1, show that

(@ Giventhat y+2=(x+1)
(x+l)%:2(y+2)ln(x+l). [2]

By repeated differentiation of the above result, find the Maclaurin series of y up to and
including the term in X. [3]

(b)

R

In the diagram above, QR= 6, PS=4, PR=35, 4PS?:% and ZQRS = @ radians.
(i) Show that PQ=(61-36cos@+48sin6)’. 2]
(i) Given that @ is a sufficiently small angle, show that

PQ =5+ pd+qgb*

for some rational constants p and g to be determined exactly. [4]
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(@)

(b)

5

Describe a sequence of exactly three transformations that will transform the curve with

. 1 . . 2x+a . .
equation y=—— onto the curve with equationy = 3 x where a is a positive constant.
[3]

Given instead that a < —6, use a non-graphical method to determine the range of values

2 .
of X where the graph of y= Xra is concave upwards. [2]

The diagrams below show the graphs of y=f (|x|) and y= ‘f (x)|, where the equations

of the asymptotes and the coordinates of the turning points are given. The gradient of the

graph with equation y = (x) at the origin is —% .

x=2
x=-2 x=2
On separate diagrams, sketch the graphs of
i) y=f(x, 2]
(i) y= 0 [3]
(i) y=£'(), [3]

including the coordinates of the points where the graphs cross the X- and y- axes and the
equations of the asymptotes, if any.

[Turn over



[It is given that a sphere of radius r has surface area 471’ and volume gﬂ'l’3 2]

A manufacturer produces closed hollow cans of fixed volume k cm® as shown in the diagram
below. The top part is a hemisphere made of tin. The bottom part is a cylinder made of
aluminium of cross-sectional radius r cm and height h cm. There is no material between the
cylinder and the hemisphere so that any fluid can move freely within the container.

I cm
\_/ 1

hecm

N ‘
(i) Iftin costs 4 cents per cm? and aluminium costs 6 cents per cm?, use differentiation to

find the values of r and h such that the total cost of producing the cans is minimised,
giving your answers in terms of k. Simplify your answers. [7]

(i) At the beginning of an experiment, a similar-shaped can of dimensions r =4 and h=10,
is filled to its capacity with water. Due to a hole at its base, water is leaking at a constant
rate of 2 cm® s™' when the can is standing upright. Find the exact rate at which the height
of the water is decreasing 80 seconds after the start of the experiment. [5]
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2X2

p _ 1
\/1_ pzxz \/1_ pzxz

—{J1-p°X.

10 (i) Show that for any real constant p,

. 1
Hence, or otherwise, prove that for any constant n such that 0 <n<—,

P

1

E 1- p*x? dx:4_ﬁp_2LpSin_l ( pn)—%n\/l— p’n’. [6]

(i) The curves C, and C, are ellipses with the origin O as their common centre. It is given
that the points (0,1) and (\/5 , 0) are vertices of C, and the points (0, NE) ) and (1, 0) are

vertices of C,. The diagram below shows the parts of the two curves in the first quadrant.
yl

V3G

8

el
Use the result in part (i) to find the area of the shaded region exactly, giving your answer

. 73 . . )
in the form ——, where mis an integer constant to be determined. [6]
m

[Question 11 isprinted on the next page.]
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11 A swimming pool contains 375000 litres of pure water. Water containing S milligrams of free
chlorine per litre flows into the pool at a rate of 10 litres per minute. The pool is also draining
at a rate of 10 litres per minute, such that the volume of the water in the pool remains constant.

(i)

(ii)
(iii)
(iv)

Show that the rate at which the mass of the free chlorine, X grams, is changing in the pool
over time, t minutes, can be modelled by the differential equation

dx _ 375s—x
dt 37500 °
State a necessary assumption for the above model to be valid. [3]

Given that no free chlorine is present in the pool initially, find X in terms of tand s.  [4]
Find, in terms of S, the mass of free chlorine present in the pool after one hour. [1]

Sketch the graph of X against t which is relevant to the context, labelling the point(s)
where the curve crosses the axes and the equation(s) of the asymptote(s). Hence determine
the mass of free chlorine present in the pool after a long period in terms of S.

[3]

To prevent health complications, the recommended safe level of free chlorine to be used is
between 375 grams and 1125 grams in a pool which contains 375 000 litres of water. Find the
range of values of S that should be used. [2]

—END OF PAPER —
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(@)

(b)

2
Section A: Pure Mathematics [40 marks]|

In acity, atraveller may use a mobile phone application to choose a variety of modes of
transport to travel from the international airport A, to a specific hotel Z: taking a High
Speed Rail, taking a Subway train or walking.

Along the way, he will need to make transfer via various interchange stations or subway
stations B, C, D, E, F or G and walk within stationsto travel in another mode of transport.

When the traveller uses the travelling application, heis given 3 choicesto travel from the
international airport to the hotel:

International Airport » Hotel
Takethe
Choice Walk 0.3 km to Subway Sl.JbWay ran | Walks
. . o withinBtoC | 0.5km
I Take the High Station within B that travels 10 | to Z
Speed Rail at A for Kkm '
60km to — :
. Within B, cross over to
Interchange Station another platform t a
Choice | B ner piat Walks 1.2 km
I negligible distance away 07
to take the Subway train '
and travel 5kmto D.
Takes the Subway Takethe Walks
Choice | trainat A for 20 km | Within E, walks 0.2 km | Subway train
0.2 km
[l to Interchange toF. at Fto Gfor 07
Station E. 40 km )

Given that thetravelling timetaken for Choicesl, Il and 111 are 51.7 minutes, 56.3 minutes
and 69.6 minutes and assuming that the waiting time for the high speed rail or subway is
negligible, find the average speed of the high speed rail, subway train and the walking

pace of the traveller. Leave your answersin km/h. [4]

: . . 2x-1

(i) Solvetheinequality e 131 exactly. [3]

N : . 2(cosx)-1

(ii) Hence, solve the inequality ~oosox <1 exactly for 0< x< 7. [3]
COS2X
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1
Theplanes p, and p,, have equations 2x+3y+6z=0 and r g| 2 |=6 respectively.
2
(i) Find avector equation of the line of intersection, |, between p, and p,. [2]
The line m passes through the points A(2,1,1) and B(5, 4, 2).
(i) Verify that Alieson p,. [1]

(i) Find the coordinates of the points on mthat are equidistant from planes p, and p,. [9]

(@ Thesum, S,, of thefirst nterms of a sequenceis given by
2
S, :ﬂ(n—lj -7 4 nr.
2 4

Show that the sequence follows an arithmetic progression and state the value of the
common difference. [5]

(b) (i) A kangaroo spotted her runaway joey when she was 20 metres away from her and
jumped straight towards her joey. The kangaroo’s 1% jump was 2 metres and each
successivejumpwas 1.1 timesthat of her previousjump. At the sametime, thejoey
jumped away from her mother along the same imaginary straight line, such that its
first jump was 1 metre and each successive jump was 0.1 metres more than its
previous jump.

Assuming that the time taken for the kangaroo and her joey for each jump is the
same, set up an inequality for the least number of jumps, k, the kangaroo had to take
in order to catch up with her joey. Hence, find the value of k. [4]

(ii)  Find the distance between the kangaroo and her joey just after the kth jump.  [1]

[Turn over



(-1-i)’
1-i/3

(@ Itisgiventhat z* =

, Where z* isthe conjugate of a complex number z.

(i)  Find the exact values of the modulus and argument of E. [5]
z

(i) Hence determine the exact values of a and b (where —z <b< ) in the equation

a+i 1
e2 b — ? . [3]

(b) Thecomplex variables u and v satisfy the equations
iu—v=3 and u*+(@A-i)v=7+4i.

Find the values of u and v, giving your answers in the form x + iy. [4]

Section B: Probability and Statistics[60 marks]

In this question you should state clearly the values of the parameters of any normal distribution
you Uuse.

The masses in grams of dragon fruits and mangoes are independent random variables with the
distributions N(350,196) and N(250, 98) respectively. Dragon fruits and mangoes are priced

at $2.40 per kilogram and $12 per kilogram respectively.

Find the probability that the total cost of 5 randomly chosen dragon fruits and 3 randomly
chosen mangoesiis less than $13.50. [4]

A school’s concert band comprises 24 woodwind players, n brass players and 10 percussion
players. % of all woodwind players, é of all brass playersand g of all percussion playersare

Senior High students, while therest are Junior High students. No student in the band plays more
than one type of instrument.

One student from the concert band is selected at random. Find, in terms of n, the probability
that the student is neither a percussion player nor a Senior High student. [3]

Suppose instead that two students from the concert band are randomly selected. It is given that
the probability that one of them is a Senior High student and the other is a Junior High student

is%. Show that

n’+ pn+q=0

for some integer constants p and q to be determined, and hence find the value of n. [3]
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7  Tencircular stickersfor temperature taking purposes, each of them indistinguishable apart from
their colours, are placed in an opaque box.

(@ Itisgiventhat four of the stickers are purple, two are blue and the remaining stickers are
pink, orange, yellow and green. Suppose four stickers are given to 4 people, such that
each person receives exactly one sticker. Find the number of ways this can be done if

(i) all four stickers are of different colours, [1]
(ii) there are no restrictions on the colours of the stickers. [3]

(b) The 10 stickers labelled with distinct alphabets“A” to “J’" are to be packed into zip-lock
bags, which may come in different sizes. Bags of the same size are considered to be
indistinguishable.

(i)  Suppose five zip-lock bags of different sizes are used to contain 2 stickers each.
How many ways can this be done? [1]

(i)  Suppose instead that a large-sized bag is used to contain 4 stickers, two medium-
sized bags are used to contain 2 stickers each and a small-sized bag is used to
contain the remaining 2 stickers. How many ways can this be done? [2]

8 Mary and Jerry play a game using two six-sided dice. One of the dice isfair with ‘1’ to ‘6’ on
each face. The other die is weighted such that the score, denoted by Y, has a probability
distribution given as follows.

1
= fory=
6 y=1
1
PY=y)=y5(y=-1) fory=23,
i(y—l) fory=4,5,6.
36

Mary throws the dice. Jerry pays Mary $3 if the total score from thetwo diceisat least “9” and
Mary pays Jerry $4 if the total score from the two dice is a most “4”. Otherwise, there is no
monetary transaction between both parties. Let $X be the amount of money Mary gains after
one game.

Show that P(X =3) = %. Tabulate the probability distribution of X. [4]

The game is played n times, where nislarge. Find the least number of games that Mary needs
to play so that there is a probability of more than 0.99 for her average winnings in the n games
to differ from her expected winnings by at most $1. State clearly the parameters used in your
calculations. [9]

[Turn over
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6

Factory Nayma produces balls used by the World Ball Association with diameters that follow
anormal distribution. A random sample of 30 ballsischosen and their diametersin centimetres,
X, are summarised by

> (x-22)=-27 and Y (x-22)" =321.26.

(i) Caculate unbiased estimates of the population mean and population variance. [2]

(i) Test, at the 10% significance level, whether the population mean diameter of a ball
produced by Factory Naymais 22 cm. [9]

(iii)  Another random sample of 30 ballsis selected, with mean diameter X. Use an algebraic
method to calculate the set of values of X for which there is insufficient evidence to
conclude that the population mean diameter of all ballsis greater than 22 cm at the 10%
level of significance. (Answers obtained by trial and improvement from a calculator will
obtain no marks.) [3]

5.2% of all insurance agents from a large insurance company, Prodential, have an advanced
diplomain insurance (ADI). A random sample of 30 agents from Prodential is obtained.

(i) State, in context, two assumptions for the number of insurance agents with ADI in this
sample to be well-modelled by a binomial distribution. [2]

Assume now that these assumptions do in fact hold.

(i)  Find the probability that at least three of the insurance agents in this sample have an ADI
each. [2]

100p% of all insurance agents from another large insurance company, Avila, have an advanced
diplomain insurance (ADI), where p < 0.5. A sample of 10 agents from Avilaisobtained. Itis
given that the number of insurance agents with ADI in this sample can be modelled by a
binomial distribution.

(i) It is given that the probability that 5 of the agents in this sample have an ADI each is
0.12294, correct to 5 decimal places. Show that p satisfies an equation of the form
p(1- p) =k for some rea constant k to be determined, and hence find the value of p

correct to 2 decimal places. [3]
(iv) Suppose instead that p = 0.24 and forty samples of 10 Avila insurance agents each are
obtained. Find the probability that the average number of insurance agents with ADI of
the forty samplesis between 2.3 and 2.5. [3]

(v) Explain, stating a reason, how increasing the number of samples of 10 Avila insurance
agents each will affect your answer in part (iv). [2]

[Turn over
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(i)

v

Sketch a scatter diagram, that might be expected when x and y are related approximately,

for each of the cases (A) and (B) below. In each case your diagram should include 6 points,

approximately equally spaced with respect to x, and with all x- and y- values positive.
y=a+bx*, where a,be R*

(A)
(B)

y=c+3, where ce R* andde R [2]
X

Obesity is becoming increasingly prevalent across the globe. To investigate the effects of
obesity on one’ s health, astudy was conducted to determineif the blood pressure of adults aged
between 40 and 50 years old is dependent on their Body Mass Index (BMI). Data from six
patients in this age-group from ahospital are collected. Their BMI, mkg/m?, and systolic blood
pressure, s, in mmHg, are asfollows.

(i)
(iii)

(iv)

(v)

(vi)

(vii)

m 22 27 31 36 40 44
S 120 150 168 172 179 183
Sketch the scatter diagram for these values, labelling the axes clearly. [2]

With reference to your scatter diagram in part (ii), explain why model (B) in part (i) is
more appropriate than model (A) for modelling these values and calculate the product
moment correlation coefficient for model (B). [2]

Find the equation of the least-sgquares regression line of son L and use it to estimate the
m

BMI of another patient (of a ssimilar age profile) whose systolic blood pressure is 110
mmHg. Comment on the reliability of your estimate. [3]

Explain why the regression line of 1 on s should not be used for your calculations in
m

part (iv). [1]

State, in context, alimitation of using the regression equation in part (iv) to estimate the
systolic blood pressure of other people with BMI within the range 22 < m< 44. [1]

Suppose anew datapair (M, S) isadded to thetable above, where m and § arethemean

BMI (in kg/m?) and the mean systolic blood pressure (in mmHg) of the adultsin the study
respectively, based on the data above. Without any calculations, explain whether the
equation of the regression line you have obtained in part (iv) would change. [1]

—END OF PAPER —



Suggested Solutionsto 2018 SH2 H2 M athematics Preliminary Examination Paper 1

u,—u.,
=n!(n-2)—-(n-)!(n-3)
=(n-D!'n(n—-2)-(n-Y!(n-3)
=(n-D!(n*-2n-n+23)
=(n-D!(n*-3n+3)

NZH:[(n ~1)! (2n2—6n+6)]

N-+1

ZZ n 1 n —3n+3)
N+1

K\%
TR

2(uN+1 )
2[(N+1)!/(N-1)—-21(0)]
2(N+1)!(N-1)




Let OC=c.
_ka+c

C1+k
(I+k)b=ka+c
a-b(1+k) =a-(ka+c)

O:k|ajz+a-c

3r
Kl = ~[afloos

K[ =-[af- 5 aloos " since [ =2/d

1 3r
k=—=cos—

2 4
N2

4




u=sin6:>d—u=cosé?
de

de

J 2cosd—-3sin20
1+sin’@
(" 2Cc0s@ —6sin@cosé

= — de
J 1+sin“@

= [_2—§s;19]c080 do
1+sin“é@

(2—6uU

= du
J 1+u?

= zzdu—3j Zuzdu
J 1+u 1+u
:2tan‘1u—3ln(l+u2)+c

=2tan*(sing) -3In(1+sin* ) +c
=2tan*(sing)-3In(1+sin’6)+c




4 (i) Differentiating 9x* — y* +3xy—5=0 w.r.t. X,

18x— 2yﬂ+3xﬂ+3y: 0
dx dx

2yg — 3Xﬂ =18x+ 3y
dx dx

dy _18x+3y
dx 2y-3x

Suppose (X, y) isaturning point of C. Then

dy _18x+3y
dx 2y-—-3x

=0=18x+3y=0= y=-6X

Substituting y = —6x into 9x* — y*+3xy—5=0, we get
9x? —(—6x)” +3x(-6x)-5=0
9x* —36x*—18x°-5=0
o2 __1
-45 9
which isimpossible since x* > 0. Therefore C has no turning points.

41 At p(l_]_),%:ﬁ:_(g
dx -2-3
Then equation of tangent is

Y+ gy ax42
x-1

Then equation of normal isy—+i=%:> y+3=x-1= y:%x—g

4 (iii) Areaof triangle PQR

:%(2+2J(1)




5 (1%

part) yt
y=1 Cl
(—a,0) (@
r=20
5(0) ng,y:1+t:>x:—a
t y—1
Substitute X=—— int X
Itute y_1|n0y: 1+¥.
y*(y-1)° =(y-1)°+1

y*(y-1)"=(y-1)°-1=0
(y—1f(y2—1)—1=o

Alternatively,

a 2
y:,/1+(;2 = /1+ti2

Squaring both sides,

1
y2:1+t—2
1
2
y =1+
(y-1°
!
(y-1°
2~1)(y-1)* =1

y* -1

(v
(v*-1)(y-1*-1=0 (shown)




5 (ii)

Using GC to solve, (y—l)2 (y2 —1)-1: 0}
y=-1.106919 (rejected) or 1.716673

-. Thepoint of intersection is (1.40a,1.72).




6 (a)

2x—/’tx32[ /21)3

oD 2] -

_ Z(X_&T AP+24

4 8
OR

£(2x2—ﬂx—3)=0
X

4x-4=0

Y

X=—

4

For ™ to exigt, the turning point of y=2x>—Ax—3 cannot lie in the interval
7
2 < X< 5. Therefore,

A7 i25:>/1<7or/”t>20

2°2%7%




6(0)(1) | [
Flotl Plot2 Plotd HINDOH YI=2WIBASEO2)/ IO ANNE2)
B\Y1B(X-1)2/((X20) (X$1)) | Xmin=0
INY202109,(X) 2 ((X>1) (X52) §:;T:$-5 2
:Qi:: Ymin=0 //
I\NYgm Ymax=2,5 /
I\Ygm Yacle=l /
A AXad, 00946 /
NYa= Trac;sttp' =2 v=2
1 (2,2)
y = g()
1(0,1)
0 (1,0) T
6 (b)(ii) | From the sketch in (b)(i),
Point of intersection between y=g(x) and Yy =1 occurs at the points (0, 1) and
where
1
2log, x=1=log, X=3
= x=2"=42
Therefore, 1<g(X)<2= J2<x<2
6 (b) (iii)

For 0<x<1, gz(x):g((x—l)z):((x—l)z—l)z:(x2—2x)2
Considering the effect of part (b)(ii),

For 1< x<+/2, 9%(x) =g(2log, x) = (2log, x—1)°

For V2 < x<2, 9°(X)=g(2log, X) = 2log, (2l0g, X)

(x2—2x)2
Therefore, g°(X) =1 (2log, x-1)"  for 1< x<+/2,
2log, (2log, x) forv2<x<2

forO< x<1




7@

y+2:(x+1)'n(x+1)

In(y+2)=In(x+1)""
In(y+2):(ln(x+1))2

iQ:Z(In(XJrl))(ij

y+2dx X+1
(x+1)%= 2(y+2)In(x+1) (shown)
X

(x+1)@+ﬂ: 2(y+2) +2ﬂln(x+1)

dx* dx  x+1 dx
d’y  dy
(x+1)W+&[1—2ln(x+l)]:

2(y+2)
X+1

When x=0,
y+2=1




7 (b)() PQ? = PR? + QR? — 2PR- QRcos ZPRQ
=5%+6”—2(5)(6) cos( £LPRS+6)
= 25+ 36— 60| cos( £LPRS)cos6 —sin(£PRS)siné |
=61- 60(§ cose—ﬂsinej

5 5

=61-36c0s6+48sind
- PQ=(61-36c0s6 +48sin6)* (shown)

1
2

7(®) (1) | pQ=(61-36c0s6+48sin0)

02
= [61— 36(1— 7] + 48(9}

— (25+480+18¢%)°

Nl

2\ 257 " 25 21 |25

o130 t20)- 0D 2]

=5 1+§9+392—@92
25 25 625

_5(1+ 2298 g
25 625

:5+%9_E92, p:%, q:_ﬁ
5 125 5 125




8(a) (i) | 1. Reflect graph about the x-axis
2. Scale graph parallel to the y-axis by factor of (6 + a)

3. Trandate graph along/in the negative y-direction by 2 units

8 (a) (ii) y:2x+a

dx (x—3)2
_ 6+a
(x-3)°
d 6+a
. a2
_ 2(6+a)
NEE)

2
Where the graph is concave upwards, % >0.

Since a< -6, 6+a<0. Therefore,
(x=3)°>0=x>3




8 (b) (i)

8 (b) (i)
x=0 xL4
8 (b) (iii)
X X|=2
’ y=F(x)
y=0 T~




9 (i)

Consider the volume of acan

Z7rr3+7rr2h:k
3

ath =K_2 2
r

k 2
=—s-=r — (1
ar? 3 @

Cost of acan,

C=4(2xr?)+6(27zrh)+6(7r?)

=14(7r?)+12(7rh)

=14(7zr2)+1f—k—87zr2 (from (1))

:67zr2+%
;
d—C:12nr—%:O
dr r
S
V4
V4
2
d CZ: =127r+£3k=367z>0
dr r
2
or (ilrcz: :12ﬂ+2;k >0sincer,k>0

The cheapest can is manufactured when r = i/E and h= %(3 LS

T T

].




9 (ii)

128

Volume of hemisphere =g7Z'I’3 =37

After 80 seconds, volume of water |eaked

:160>£387r

Hence we only consider the rate of change of the height of water in the cylinder after
80 seconds

Let H be the height in cm of the water in the can.

V =7zr?H
=167rH
d—V=167zd—H
dt dt
dH 1 av
dt 167 dt
2
T 167
1
T er

The height of the liquid is decreasing at 8i cms™ , 80 seconds after the start of the
T

experiment.




10
(i)

RHS= \/ﬁ —\/1— p2X2

1— (1_ p2x2) ~ p2X2

- = = LHS (shown)
J1-p% J1-pX
Method 1
1 L p°x?
J"’ 1- p*x* dx = — dx
n ) \/1_ pzxz \/1_ pzxz

+ o2
1JX 2p°X dx

«/1 p*x?
= P dx
p n \/1_(px)2

:%[sin‘l(l) —sin‘l(pn)]—n\/l— p’n —j:\/l— p*x* dx
=%[%—sin‘l(pn)}— n\/l— p°n? —J.%\/l— p°x? dx
:——Bsm (pn)—ny1- p°n® - j 1- p°x* dx

2p

Hence,

ZFJ 1- p°x® dx:zip—%sin‘l( pn)—ny/1- p*n
J'P 1- p°x® dx_4lp—2is (pn)—%ndl p°n?

P




10 (i)

Method 2

jn%‘/l— p*x? dx:f’l- 1- p*x® dx
— [xw/l— p2x? T —Jpx ! -(=2p°x) dx

21— p°x?
Tll 2,2
- (O—nwll— p°n’ )+J \/% dx

= —ny1- p*n? +J 1 - p*x* dx

1_ p2x2
=—ny1- p°n? +J ! dx—jF 1- p°x? dx
. 1_ p2x2 n
Hence,
ZF 1- p?x? dx=—ny/1- p*n? +J 1
N 1= A

= J'n% 1- p*x? dx

11 5 1(" »p
2[ PJ. J1-(px)°

- —%n« [1- p°n? +2—1p[si n( px)];’l’
= 2_1p[si n*1-sin"(pn) |- % ny1- p*n?
=i[£_sin‘l(pn)}—%n«/l— p’n?

2p| 2

T 1 = 1 2,2
=— ——sin (pn)—-=ny1- p°n° (shown
20 2p (pn) > V1= pn® ( )




10 (ii)

2

X 1
C —+ 221:) 2:1—_)(2
173 y y 3

C 'x2+y—2—1:> 2 =3-3x?
2 - 3 = y =

At the point of intersection,

1-1ye_3_3¢ 3(3_E]X2 =3-1
3 3

Therefore, area of shaded region is given by

N
J 1—:—13X2 dX—J.;\/C’-,—?,x2 dx
V3 2

= 2
:J {1—(%} X dx—\/?’-,ﬁzé\/l——% dx

2

e T

3| Z - Lgn (@Jzﬁ m

2




11 (i) Mass of free chlorine entering per minute

dx 10s S
=|—| =10smg=——-=—g¢g
dt ), 1000 100

Mass of free chlorine leaving per minute

dx X X
(dt jout 375000( ) g g

37500
aal. s
dt Lat ), Ldt ),

10s 10x

~1000 375000
= dx _375s—x (shown)
dt 37500
Assume that

dx 375s—x

the mixture/concentration of free chlorine and water
uniform/homogeneous/well-mixed in the pool.
11 (ii)

is

11 (iii)

dt 37500
j 1 dx = L dt
3755 X 37500
= —In|3755— x| =

+C
37500

= —In(375s-x) =

+ C (since 375s— x> 0)
37500

= In(375s-x) - ¢
37500

t

— 3755— x =g 37500 . g€

t

= X =375s— Ae 37500 \where A=¢g °

When t=0, x=0.

0=3755—- A= A=375s

t
SoX= 3755(1— g 37500 ]
60

In 60 minutes, x = 3755(1— e_~°>7500J = 0.599520s

grams (or 600s milligrams).

1
Amount of free chlorine in the pool after one hour is 0.600s or 3753{1 J

_e &5




11 (iv
™ T
O PR STes LT
AT HEENN
bES 3753{1—e 37500]
O I ™
ASt oo, e3P0 50, x— 375s.
11 (last 375< 3755<1125
part) —1<s<3




Suggested Solutionsto 2018 SH2 H2 M athematics Preliminary Examination Paper 2

1(a

Let &, b and c be the average speed of the high speed rail, subway train and walking
pace of a person.

For Choice 1,

60 03 10 05 51.7 60 10 0.8 51.7

—t———+—= = +

=— —t+—+—=——...(1)
a ¢ b c 60 a b 0
For Choice 2,
60 5 12 563
—F—F+—=—=...(2)
a b c¢ 60
For Choice 3,
20 0.2 40 0.2 69.6 60 04 69.6
—t—t—F—=— = —+—=——...13)
b ¢ b ¢ 60 b ¢ 60
Solving (1), (2) and (3) simultaneously,
1 1 1 1 1 2
— — and —=—

a 160 "b 60 c 5
Thus, the average speed, in km/h, of the high speed rail, subway train and person are
160, 60 and 2.5 respectively.




1 (b) LIPS R
() 2x% -1 2
2
2X—1-2X +1SO
2x* -1

—05

-
-

X<—L or OSX<L or X>1. (since X;«tii)
2

NG V2
1(b) M<l for 0<x<rx
(if) cos2X
2(LX);lsl
2(cosx) -1

1 1
CcosX<———=or 0<cosX<— or cosXx=1

7 7

For cos X =1, this is only possible when X=0.

For cosX<—L, we have —1£cosx<—i,
V2

V2

thus 377[< X<71.

1 T T
For 0 < cos X<—, we have Z< XSE.

V2

.. V4 V4 R4
Hence, the solutionis X=0 or Z< XSE or T< X<,




2 (i) p,: X+2y+2z2=56

Using GC,

—-18 -6
r={ 12 |+4| 2 [, A€
0 1

2 (i) 2) (1

Since 2+2(1)+2(1)=6, or | 1 |g[ 2 |=2+2+2=6,the point Alies on P,.

1)\2

2 (iii) | Let the point that is equidistant from both planes be C.

5 (2) (3

41-11]=3

2) (1) L1
2) (3

wir
OC=|1 |+t| 3| for some te |

1

1

Distance of C from P, = Distance of C from P,
243t) (2 1 243t 0 2

143t [=| 1|2 1+3t [-] 0| 3
1+t ) (1)] 2 1+t ) (0)] 6
VIP+2% +27 V22 +3%+6°
[3t+6t+2t]  |[4+6t+3+9t+6+6t]
3 7
Lt [13+21t]
307
771t| =39+ 63|
77t=-39-63t or 77t=39+63t
140t =—39 or 14t=39
39 39
T U
3 145
oc=| 1 +(—£ orOC=| 1 +(39j 3|=L]131
140)| 7| 140 14 14
1 1 53
163 23 101

The two points are (— —_—

14_5 131 53
140’ 140° 140

14 147 14




3(a) un:S”l_Sw—l’ nz2

1 9 )
=—Nr+-—-7+3vr——7+7
4 4

=2nr-27+7°, n=2
2
Qu =S :n(l—%j —%+7r2 —rt=2()r 27+ 1
su =2nr-27+7x°, nxl
Method 1: Comparing nth term of AP
Qu,=2nr-2z+7x°, nx1
=z’+2z(n-1), nx1
Method 2: Calculating common difference
U,—U,, =207 -27+7" —(2(n-D)7r-27+7")

=2

Sequence is follows a arithmetic progression with common difference 27 .

30) 1oy -1)

() —— 2%(2(1)+(k—1)(0.1))+20

20((1.1)k—1)2%(1.9+0.1k)+20

20(1.1) =202 0.05k* +0.95k +20
20(1.1) —0.05k* —0.95k > 40

By G.C., k=11.

3 (b) Required distance

(i)
—M—E(z(m(n—l)(o 1))-20
11— 2 '
=0.56233

=0.562m (3 s.f))




4@ | J1=iy|_a-if
|Z|_‘1 1\/_‘ ‘1—1\/—‘

arg(z*):arg((l__l:/%)i }

23 1

=T =—

12 12
_t_t _1
Zl |4 | V2

(1) * 23 1
arg| — :—arg(z):arg(z )=——7Z’ or —7
z

12 12
“l-i=2e7, 1-i3 =26
\/76_13” i .
z*= ( _n)) 2\/_(6 =+/2e e SN
2¢% 2¢'
l— ! — ¢ Therefore
S A
ULl
7l 2° 82 12
4 (a) (ii 4 A\ 23 .
( )( ) L:(l] _ Le—%m :lef?m :legm
z \z 2 4 4
e2a+1b _L — eza b _ leg’”
z 4

Therefore we have

e’? =l:2a=lnl:>a=lnl or —In2
4 4 2




4 (b)

u-v=3=v=1u-3
Then substituting W=1z—3 into the other equation,
u*+(1-i)(iu-3)=7+4i
U*+u—3-1’u+3i=7+4i
u*+iu+u=10+i1
2a+i(a+ib)=10+i
2a—-b+ia=10+i

Comparing the real and imaginary parts, we get
a=1and 2a-b=10=2-b=10=b=-8.

Therefore u=1-8i and v=i(1-8i)-3=5+i

Alternatively,

iu-v=3 (1)

u*+(1-i)v="7+4i

Let u=a+bi and v=c+di where a,b,c,de | .
Equation (1) becomes

i(a+bi)—(c+di)=3

(-b—c)+i(a—d)=3+0i

Comparing the real and imaginary parts,

—-b-c=3 3)
a-d=0 (4

Equation (2) becomes
(a—bi)+(1—i)(c+di)=7+4i

(a+c+d)+i(-b+d—-c)=7+4i

Comparing the real and imaginary parts,

a+c+d=7 (5)
—-b-c+d=4 (6)

Using GC to solve (3), (4), (5) and (6) simultaneously,
a=1, b=-8, c=5and d=1

Therefore, u=1-8i and V=5+i.




Let X and Y denote the mass in grams of a randomly chosen dragonfruit and mango
respectively, and C be the total cost of 5 randomly chosen dragon fruits and 3 randomly
chosen mangoes. Then

5 3
co2h gy, 12 gy
1000 = 1000 7=

Therefore,

E(C) =22 »5%350+ 2 x3x250=13.2 and
1000 1000

24Y 12 Y
Var(C) = (—j ><5><196+(—j x3%98 = 0.0479808
1000 1000

C ~ N(13.2,0.04798)

P(C<13.5)=0.915 (to 3 5.f)




Senior High | Junior High Total
Woodwind 8 16 24
2 3
Brass —n —n n
5 5
Percussion 8 2 10
Total §n+l6 %n+18 n+34

6 (1%
part)

P(neither SH student nor percussion player)
= P(either JH woodwind player or JH brass player)
_ No. of JH woodwind players + No. of JH brass players

Total no. of concert band students
16+ é n
_ 5
24+n+10

En+16
5

n+34
_3n+30 3n+80 2n+90

= or or 1—
5n+170 5(n+34) 5n+170

Alternatively,
P(neither SH student nor percussion player)

= P(either JH woodwind player or JH brass player)

24 2 n 3
= )(_+ X —
244+n+10 3 24+n+10 5
_ 16 N 3n
n+34 5(n+34)
_ 3n+80

 5n+170




nd
S 6(1r2t) P(one is a SH playe and the other is a JH player) :%

§n+16 §n+18

1
X X2l=—
n+34 n+33 2

2n+80 3n+90 1
5n+170 5n+165 4
4-2(n+40)-3(n+30) =(5n+170)(5n+165)
24(n* +70n+1200) = 25n° +1675n+ 28050
n*—5n-750=0
n=-25 (rej) or 30

Alternatively,

0.4n+16)(0.6n+18
1 1 1

n+34 2
)
(0.4n+16)(0.6n+18)
(n+34)(n+33) _5
21




7(@) (i) . : : 6
Number of ways if all 4 stickers are of different colours = 4 41=360
7 (a) (ii) | Case 1 : All 4 different colours are used
No. of ways = 360
Case 2 : 2 are of the same colour, the remaining 2 are different colours
2\(5)4!
No. of ways = — =240
1){2)2!
Case 3 : 3 of them have the same colour and the last one has a different colour
1)(5)4!
No. of ways = —=20
1){1)3!
Case 4 : 2 are of the same colour, the other 2 have the same colour (only two purple and
2 blue)
2) 4!
No. of ways =| |——=6
2)212!
Case 5 : All 4 stickers are of the same colour.
No. of ways =1
Total number of ways
=360+240+20+6+1
=627
7 (b) (i) | Number of ways
10)(8\(6)[4)(2
= =113400
2 N2 )N\2)(2)\2
7 (b) No. of ways
(if)

R,

2!




8 (1#
part)

Presenting all the possible outcomes on the total score of the dice :

Fair Die [lj
6

1 2 3 |4 |5 |6
a/6) 1 |2 3 5 |6 |7
. Lae2 I3 4 ~T5 |6 |7
5 e 3 |4 _~5 6 [7 | 9
< [6B6)4 5 |6 7 ,8/9 10
& (4365 |6 7 8 A9 |10 |11
R (5/36) 6 |7 8 4% 110 [11 |12
P(X =3) :(lexlj+(ixlx2)+(ixlx3j+(ixlx4j
6 6 36 6 36 6 36 6
_2
108
P(X=—4)=(l><l 5J+(gxlx1)
6 6 6 6
-
36
P(xzo)zl_ﬁ_l:ﬂ
108 36 54
Distribution of X are as follows :
X 3 0 |4
108 | 54 | 36




8 (2nd
part)

o

d O CRLCIARERT

187 (1Y 83

Since nislarge, by Central Limit Theorem,

XNN(—L 8—3nj approximately.

P X—(—LJ <1|>0.99
12
Standardising,
]
P||Z|< >0.99
83
16n
P |Z|sM >0.99
V83
P| Z S—M <0.005
J83
—M<—2.575829
J83
n>34.41

Smallest possible number of games required is 35.




9 (i)

Y=ﬂ+22:21.1
30

S :i(321.26——(_27)2J

29 30
=10.24

9 (ii)

Test Hy: =22 against H, :u#22
Level of significance = 10% (two-tailed)

UnderH,, X: N(22,%) approximately.

X =22
10.24
30

Hence Z = : N(0,1) approximately.

Critical region: || >1.64485 (6 s.f.)
Observed test statistic,

- 21.1-22
10.24
V30

(hence do not reject H )

OR
p-value = 0.123446 (6 s.f.) > 0.1 (hence do not reject H,))

=—-1.54046 (6 s.f.) > —1.64485

Step 5:
We conclude that there is insufficient evidence at the 10% significance level to claim
that the mean diameter of the balls is not 22 cm.

9 (iii)

To not reject H,,, the observed test statistic, Z<1.28155 (6 s.f.)
X-22
" 1024

30
0<X<22.7 (3s.f)

<1.28155




10 (i)

The event that each agent has an ADI occurs independently for all agents in the sample.
The probability that each agent has an ADI is constant.

10 (ii) | Let Y denote the number of insurance agents with ADI out of 30 randomly chosen
Prodential insurance agents. Then
Y ~ B(30, 0.052).
P(Y>3)=1-P(Y<2)
=0.2032366271
=0.203 (3sf)
10 (iii) | Let W denote the number of insurance agents with ADI out of 10 randomly chosen
Avila insurance agents. Then
W~ B(10, p).
P(W=5)=0.12294
10) s
5 p’(1-p) =0.12294
01— p)=| 212224V _ 21760, ie.. k=021760
252
p’—p+0.21760 =0
p=0.68 or 0.32
Since p< 0.5, p=0.32
10(iv) | E(W)=10x0.24=2.4
Var (W) =10x0.24x(1-0.24) =1.824
Since sample size, 40, is large, by Central Limit Theorem,
W ~N| 2.4, 1.824 approximately.
40
Therefore, P(2.3 <W< 2.5) =0.36042 =0.360 (to 3 s.f)).
10(v) | with a larger sample size, the variance of W will decrease. This means that the

distribution of W will have a higher concentration about its mean, 2.4, and therefore the
value of P (2.3 <W< 2.5) will increase.




11 (i) y=a+bx’

NORHAL FLOAT AUTO a+bi RADIAN HP n

y=c+—
X
y ) - S N b S %
X:E
o] : T
11 (ii) s
g (44, 183)
a
o
a
(22, 120)
> M
11 (iii)

. d . . .
The equation y=c+—, is more appropriate because from the scatter diagram, as m
X

increases, Sincreases at a decreasing rate.

r=-0.982




11 1
- Regression line of Son —:
(iv) | % m
1
S= 248.61—2731.4(—]
m
~ 2492730
m
Since systolic blood pressure depends on weight, we should use the regression line of Son
1
m
110= 248.61—2731.4(ij
m
m=19.706
Since S=110 lies outside the range of values of s, extrapolation is required which gives
an unreliable estimate.
11 . . : .. 1
W) Since sdepends on m, mis the controlled variable. Therefore, the regression line of p on
S should not be used.
11 e Too few patients are selected for the equation of the regression line to be reliable in
(vi) estimation.
e The data is only valid for estimating the blood pressure for people of a similar age
profile.
e The data is only valid for estimating the blood pressure of patients with similar medical
conditions.
e A person’s blood pressure is not fixed and is influenced by other factors at time of
measurement, such as physical activity and/or varying emotional states like anxiety.
11__ Since the data point (rTW, §) does not lie on the regression line, the answer in
(Vil) | part (jii) will change as the equation of the regression line is affected.




